Phil. 115          9/8/05

Last time, we looked at this English argument:

Lois believes that Superman can fly

Clark Kent is Superman

So, Lois believes that Clark Kent can fly

I’ll now briefly and partially describe two accounts of this English argument.  First, some basics of each account.  In the below table are how each account would evaluate the truth value of the statements in the argument (relative to the Superman story as I told it last time, where Lois does not realize that Clark Kent is Superman, and will tell you that Superman, but not Clark Kent, can fly), together with how each account rules on whether the argument valid and whether it is sound.  (The last two columns are left blank for the second account, because you should be able to fill them in yourself, given what that account says about the premises and the conclusion.)

	
	First premise
	Second prem
	Conclusion 
	Valid or in?
	Sound or un?

	1st account
	True
	True
	True
	Valid
	Sound

	2nd account
	True
	True
	False
	_______
	_______


Now, a little description.

The first approach is the one that might be taken by someone who accepted Nathan Salmon’s theory of belief ascriptions (in, for instance, his book Frege’s Puzzle).  It’s counter-intuitive ruling is that the conclusion of the argument is true relative to the Superman story I told you.  That is, this approach insists that Lois really does believe that Clark Kent can fly, though if you asked her, “Can Clark Kent fly?,” she’d answer along the lines of, “No way!  Are you crazy?”  So some of the work to be done in promoting this approach is to explain why it is that Lois does believe that Clark can fly, despite how she’d answer the above question.
The second approach is one that might be taken by one accepts the “hidden indexical” account of belief ascriptions (as, for instance, described and defended, before being attacked, in Stephen Schiffer’s “Belief Ascription” [JSTOR link]).  To give away how to fill in the blanks above, this account rules the above English argument to be invalid and unsound.  But, as we noted, the English argument might be “translated” into this argument in FOL:
Belfly (lois, superman)

ck = superman

----------------------------

Belfly (lois, ck)

And this argument in FOL is valid.  So the second approach should explain to us where the “translation” goes wrong – where the English gets distorted by this “translation” of it into FOL.  I’ll say a few words about this, but this approach will rule that both the first premise and the conclusion are distorted, because no mere two-place relation can capture the meaning of those English belief ascriptions.  
